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1 8 17 5,784 \IR/::%.ZSZ(?.S.O)m 80.7 500| 3.63 92 1
2 13 18 1,023 \IRIZ:GB%(;?.Z.S)m 32.3 2001 234 92 2
3 14 18 1,530 \IR/==26’.601£1.5)m 118 60 155 92 3
4 8 18 3,116 \IRIZ:GI%(.)O(Zél.O)m 14.7 100 9.04 88 4
5 14 17 500 \IR/::%(.)g(lél.S)m 220 40| 6.10 88 5
6 9 18 1821 \IR/::jé.ZS(;SIJ.S.O)m 779 50| 384 88 6
7 9 18 4,010 \IR/::%%LE?.S.O)m 83.2 170 161 83 7
8 12 18 1,462 \leijé%(;go)m 16.3 30 151 83 8
9 ) 7 18 1571 \IR/::jé.EE)(g).O.S)m 75.8 30 111 83 9
10 15 H26 800 \leijé%(;?_G.S)m 6.3 25| 6.38 71 10
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3 ( 10 18 820 \leisé?g(lo.S)m 95.9 21| 046 78 3
4 BP 10 H26 700 \IRIZ%.GS%?A.S)m 23.0 10 153 71 4
5 BP 9 23 2,490 \lei?g%(;?.Z.S)m 133 22| 226 68 5
6 12 H26 340 \lei:g%(go.O)m 322 10 209 68 6
7 BP 11 H26 850 \IRI:=15’75(;(7)5)m 255 10 1.89 68 7
8 BP 5 25 4,000 \IRIZ%%LE?.Z.S)m 422 30 1.62 68 8
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H14 H18 639 42.3 152 84
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